Sindhi High School, Bangalore

Half Yearly Examination-2024-25

Subject- English

Class: 5 Max Marks: 60

Date: 27/09/2024 Reading Time: 88,15 am

No. of sides: 4 Writing Time: 8.15-10.45am

General Instructions
This paper contains THREE sections:

L ion A-Reading-16 Marks

Section B-Writing & Grammar- 20Marks
Section C-Literature- 24 Marks

All sections are compulsory.

Section A-Reading (16 Marks

I. Read the following passage carefully and answer the questions:

1. The king of Iran had heard that Birbal was one of the wisest men in the East. He wanted to meet Birbal, so
he sent him an invitation to visit his country. In due course, Birbal arrived in [ran.
2 When he entered the palace, he was puzzled to find not one, but six kings seate
kingly robes. Birbal began to think, “Who is the real king?’ The very next moment, he got the answer.

Confidently, he approached the King and bowed to him. “But how did you identify me?” The king asked

(3MD)

d there. All were dressed in

pr=zled. .
3. girbal smiled and explained, “The false kings were all looking at you, while yourself looked straight
ahead. Even in regal robes, the common people will always look to their king for support.” Overjoyed, the

king embraced Birbal and showered him with gifts.

a) The king sent an invitation to Birbal to visit Iran because il
i) Birba! was very rich
ii) Birbal was very brave
iii) Birbal was very wise
iv) Birbal was a king
il

b) "When Birbal entered the palace, he was
i) confused

it) excited

1i1) disappointed

iv) sad




¢) The real king was Jooking at the falee kings True o Falee?

d) Complete the sentence given helow:
When Birbal entered the palace, he wae

¢) How do you know that the king was very happy with the wisdom of Bitbal?

£) Which words in the passage are the synonyms (same meaning words) as follows
i) positively- (para 2) i) kingly dress -

g) Find & wond from the above passage which is the antonym (opposite meaning word) of

distanced x _(para 2)

1. Read the following passage carefully and answer the questions:

1. Mowgli was a baby when he was found by some animals of the jungle. He grew up under their care.
Bagheera, the black panther, was Mowgli’s teacher and guide.

[

(2

[t

(8M)

2. Atnight. Mowgli sometimes went down the hill into the fields. He was very interested in the people of the
village and the houses they lived in. Once Bagheera showed him a square box with a gate. It was cleverly

hidden in the jungle and Mowgli nearly walked into it. Bagheera told him that it was a trap made by men
and after this Mowgli did not trust men. What Mowgli loved to do was to go with Bagheera into the dark
warn heart of the forest. He would sleep all through the day and at night he would move around with

Bagheera.

3. Bagheera moved at night, with Mowgli on his back, from one tree to another. Mowgli watched Bagheera

in wonder as he sprang «ffortlessly from one tree to another and let his soft paws rest noiselessly on the

branches. He learnt to move with ease from this majestic animal. Bagheera also told him not to disturb other
animals that slept at night as they were awake during the day. “We should respect the law of the jungle,” he

said.

a) Mowgli was interested in
1) fruits of the jungle

i1) hills and fields

111) humans and their habitat
iv) chocolates and ice creams

b) Bagheera, Mowgli’s guide and teacher was a
1) a bear

i) a tiger

iii) a wol7

iv) a black panther

¢) Complete the following:
1) Mowgli nearly walked into the square box because

ii) Mowgli loved the forest because

I

(1]

(2]




dY Why did Mowgli not trust men? (1]

e) Which vvords in the passage are the synonvms (same meaning words) as follows: (2]
i) smoothdy- ~ (para3) ii) belief- (para 2)

f) Find 2 word from the above passage which is the antonym (opposite meaning word) of:
unimpressivex (para 3) (1]

Section B — Writing & Grammar (20 Marks)

I Write a letter to yvour friend inviting him/her to your house to spend the weekend with you. You
are Rahul/Riya. aMm

IV. Imagine you are lost in a forest. Write a paragraph in about 80-100 words, describing your

adventure and how you found your way back. M
e

V. Fill in the blanks with the appropriate word from the brackets: (1x8=8M)

My great uncle Nick is a) (a, an, the) oldest person in our family. b) ,

(He. She, They, It) is 84 years old and has biue eyes and c) (a, an, the) long grey beard. When he

was younger, he d) (travel, travels, travelled, will travel) to many different countries. He was

€)_____ (a, an,the)explorer. He was the first person in our family to travel. Hef)

(take, took, takes, will take) lots of photographs while he travelled. g) (Her, Hers, His, He)

favourite photograph is of the African leopard while visiting the island of Zanzibar. He is retired now so he

h) (reads, reading, will read, read) a lot of books and plays the piano.

VIr.\Completre the paragraph given below by using the correct form of the adjectives given in brackets:

(1x4=4M)
The saltwater crocodile is a) (dangerous) than the great white shark, which only
attacks humans when it mistakes them for a seal. The Great White shark is as b) (long)
as the saitwater crocodile. On the other hand, the Africanized honeybee is c) (strong) than
the bird spider, which only bites when it feels threatened. Despite it being the d) (small)
animal on our list the Africanized honeybee can still be one of the most dangerous kinds.

Section C — Literature (24 Marks)

VIL 1. Read the extract and answer the questions that follow: (1x4=4M)

“We are delicate creatures. If we get wet, we catch a cold and die. So there were fewer and fewer of us.
Now, goodbye!”

a) From which lesson has the above extract been taken?
i) Ivan’s story it) Invention of Shoes iii) Maui’s Kite iv) Five Children and It



b) The speaker of the above lincis

i) Ivan ii) Maui iii) Psammead iv) Ranji
¢) What was the mood of the speaker before it says these lines?
i) sad ii) excited iii) surprised iv) jovial
d) Where was the creature found?

i) on the street i) in a gravel pit iit) under the hedge 1v) in the house
2. Read the extract and answer the questions that follow:
“But he’s locked in a concerete cell,

His strength behind bars,

Stalking the length of his cage,

[gnoring visitors.™

(1x4=4M)

a) Name the poet of the poem from which the above stanza has been extracted. .
1) Ruskin Bond ii) Karla Kuskin

iii) Leslie Norris iv) Eleanor Farjeon
b) Which animal is locked in a concrete cell?
1) Elephant

ii) Tiger iii) Lion iv) Gorilla
¢) Which word in the poem tells us about the mood of the animal?
i) rage ii) brilliant iii) strength iv) stalking

d) According to the poet where should the animal be?
i) in the jungle ii) waiting for the deer iii) terrorising the village iv) All of the above

VIII. Answer the following questions in about 30-40 words. (2x4=8M)
1. What was the problem faced by King Hobu? How did the old tanner solve it?

2. In the poem, ‘Books” why does the speaker say that there is a distance between the mind and the body?
3. What were some of the skills that young gorillas like Ivan learned as they grew?

4. In the poern, ‘Spring’ why does the poet say that “she is racing through the meadows without a coat™?

IX. Answer the following questions in about 70-80 words. (4x2=8M)
1. Write the character sketch of Ranji from the lesson ‘A rupee goes a long way.’

2. What caused the storm in Maui’s Kite and how did it change Maui’s character towards the end of the
lesson?
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Subject - MATHEMATICS

Class: 8 -
Date:20/9/24

 Max Marks:60
Reading time: 8:00 to 8:15%am

Number of printed sides: 8 Writing fime: 8:15 to 10:43am

L]

All questions arecompulsory.

Section - A consists of 14 MCQs , carrying | mark each

Section - B consist of 4 short answer questions carrying 2 marks each
Section - C consist of 5 short answer questions carrying 3 marks each
Section- D consist of 3 question carrying 5 marks

Section - E consists of 2 case study question carrying 4marks

General instructions j[
|

|

S1. No. Section A Marks
1. The number 169 in Roman numerals is represented as 1
a) CCLXXI b) CLXIX ¢) CLXXI d) CLXX1I
2. Choose from the pair of numbers shown, whose difference isnot4 1
a) 8,4 b) 16,12 c) 15,4 d) 22,18
c Two numbers which have only one as the common factor are called as 1

a) Prime Numbers b) Co Prime c¢) Composite d) Factors

4 15 3 =5, choose the appropriate operation in the box.

a)+ b) — Q) ¥ 9+

12
The simplest form of fraction 18 is

12 12 12
a) b) EE C) 18 d) 18




. ]
CE W l
4
UMK\ . — - b) 2 012 dy 15
7 Two rays with a common end point form an 1 ;
aArm b) Arc ¢) Axe d) Angle ,
8. Lﬂiﬁl&ﬁﬁgﬁﬁlcm T n *
» _ i
i
|
a) b) c) d)
None of these
9.
1
The type of the angle formed by the hands of the clock shown in the above
figure is
-\
a) Right angle b) Acute angle  c) Obtuse angle d) Straight angle
10. How many lines can pass through one given point 1
a)l b)2 c)3 d)countless
11. The successor of smallest 4-digit number is 1
a) 1001 b)10000 ¢)9998 d)1000
12. How many crores make 10 million 1
a) 10 b) 1 )3 d)100
13. The smallest possible polygonis 1
a)quadrilateral  b) triangle c)pentagon d) hexagon




A circle has

lines of symmetry.

14. ‘
| f'
a)three b) two ) ten d) infinite : L[
Section B -8
15. Compare using the symbols =, <, ot ; '
Mx2 [ | 16x3 _i -'
16. What should be added to 845,380 to get 9.85.859 3 |
17. Write first four multiples of 21 o |
| )
18. Observe the adjoining figure ; 5]
a) Name any two points: f
b) Name any two line segment i
Section C |
. 3X5=15 |
19. Which of the following fraction is greater? 1 |
.l
4 4
s ® I
$ oo 2
5 7
20. a)Arrange the following in ascending order 1
6498013, 6495014, 6491102, 6491320
b) A truck can carry 6200 kg of weight in it .What weight can be carried by 2
63 such trucks?
4 P a) How many lines of symmetry does a square has? I
en figures along the dotted line. 2

b) Draw the mirror reflection of the giv




—

a) Identify the type of angle formed .

0 g b R R A g
Artline Trasouri
Lowal)

L1 T YT Frvveens v frvrvem }fYITTN | Fevrense AT ¢

a) at the tip of cap b) along the length of the scale

b) Name the vertex and arms of the following angle 2
Vertex
Arms , M
23. Find the LCM of 12,15 using prime factorization 3
Section D 5X3=15
24. a) Write the number name of 6432180 in Indian and International system of 3
numeration by using commas in appropriate place.
b) Write the smallest 6-digit number such that 5 remains at tens and lakhs place. |
¢) Compare
ccLxv[__] pLv I




26,

— Constroet a circle of radiue of dem
a) Draw diameter AR

) Centre P |
Chord CD |

) Complete the factor tree

50 OG

b) Find the HCF of 12 and 32 using prime factorization

Section E |
|

|
[

Ramesh works in a chocolate factory. He packed 243 boxes of chocolates on
Monday and 199 boxes on Tuesday and 468 boxes on Wednesday

alamy.com '|»

a) In which day he packed more number of chocolates?
b) If he worked 9 hours on Wednesday, how many boxes he packed in one hour? 2

¢) How many boxes of chocolates he packed on Monday and Tuesday altogether?

28.

Preethi walked 1 fkm and Savitha walked 23 km, to reach school from their

house




a) Vind who walked longer distance 7
b) Find the total distance walked by both of them?

¢) Find two equivalent fraction of distance traveled by Preethi

2




A, SINDHI HIGH SCHOOL, BANGALORE

= l c HALF YEARLY EXAMINATION: (2024-25)
Subject - SCIENCE

Class: V Max Marks: 60
Date: 23 -9-2024 Timings: 8:00 to10:45am
No. of printed sides: 3 Reading time: 8:00.8:15am

Writing time: 8:15- 10:45 am

This Question paper has 4 Sections A-D
All questions are compulsory.
Answer all the questions and write neatly.

SECTION - A
1. Choose and write the correct option: (172 x 8=4)
i. Roots of some plants such as produce a new plant by vegetative propagation.
(a) Sunflower (b) Rose
(c) Sweet potato (d) Onion

ii) Dispersal of seeds is important for plants because to
i. avoid overcrowding, which results in weak plants.
ii. prevent seeds being dependent on parent plant.
iii.ensure the plants of a particular type spread to new area.

a) (honly b)) &(ii)only c) () & (iionly  d) (i), (ii) & (iii)

iii) Identify the type nutrient we obtain from the substance
shown in the above image
a)Mineral b)Carbohydrate c)Protein d)Vitamin

iv) A baby 'X' breathes through its gills, an adult 'X ' breathes through its lung
on land. What is X?

a) Fish b) Frog
c¢) Whale d) Crocodile



V) Which of the following is not a migtatoty animal?

a) Arctic tem Y Monatch nterfly
¢) Siberian Crane ) Polat beat

vi) Trangport of sediments neually sccirs by

a) people carrving them b) tiver catrying them
¢) by exploding of voleanoes d) by heat and pressure

vii) What doces this sign mean?

a) Left tum prohibited  b) Right turn prohibited
¢) No parking d) Pedestrian prohibited

viii) We should sit in a cool place when

a) we are shivering b) there is a fracture
¢) there is anose bleed  d) a snake has bitten us

2. Name the following: (1x4=4)
1) The disease causing organism.
i) The area or place where an animal can live comfortably and reproduce.
iii) It is the smallest particle of an element.
iv) Cutting large number of trees

3. Analogy: (1x4=4)
1) Quartzite: ::Sandstone: Sedimentary rock
ii) Solid : Book:: : Water
iii) Kwashiorkar : Protein deficiency:: : Protein and carbohydrate deficiency
iv) Arboreal animals : Monkey :: : Pigeon
4. Give two examples for each. (1 x 4=4)
(1) Diseases caused by virus (ii) Vitamin A sources

(1ii) Hibernating animals  (iv) Non-metallic minerals

5. Define the following. (1x3=3)
(i) Fire extinguisher  ii) Balanced diet  iii) Agriculture

6. Give reason (1x2=2)
i) Burning of paper is chemical change.
i1) Crocodiles have webbed feet.

SECTION-B (2x7=14)
7. Roughage is important in our diet. Justify.

8. Draw a neat labelled diagram to show the structure of a seed.
2



a) Identify the animal.
b) Mention it"s adaptative feature and ite Ggnificance
10. Write the name of the metal that is obtained from the following ares
a. Bauxite b. Pyrite ¢. Haematite d. Cinnahar
1'1. Sugar is added to a glass of water and stirred, it disappears. Justify
12. Differentiate between evaporation and condensation.

13, List any two uses of pumice stones
SECTION-C (3 x 5=15)
14. Write the characteristics of physical change.
15. List any three benefits of exercise.
16. How are the birds adapted to survive in aerial habitat?

17. Mention any three ways to conserve natural resources.

18. Shikha met with an accident while rushing for her work. She was given first aid and then
they took her to hospital. Mention any three purposes giving first aid.

SECTION-D (5 x2=10)

19. a.

=
o TPk ——

a. Reena is conducting an experiment to discuss the factors required for germination of seed.

She has arranged a setup as shown above. Explain her conclusion in all the three cases.

b. Why is it necessary to remove weeds from the agricultural field? (2)
20. a. Differentiate between sling and splint. )
b. List the three steps of first aid for minor cuts. ©)

(3)



SINDHI HIGH SCHOOL

SURJECT - S8OCIAL STUDIES

Date : 25-09.24 Marke: 60

Class: V
Number of printed sides: 3

HALF YEARLY EXAMINATION (2024-25)

Reading Time: 8:00 to 8:15 am
Writing Time: 8:15 to 10:45 am

General Instructions:

e Write your Name, Roll number, Section in the answer script.

e Read all the Questions carefully.
e Answer all the Questions and write neatly.

Section - A

| Choose the correct answer:-

| 1x5=5

| 1.

lelumidity means the amount of moisture present in the -
# a) Atmosphere b) Lithosphere
| c) Hydrosphere d) Geosphere

An is a natural feature in the deserts.
a) pool b) Oasis
c) lake d) well

' The second largest river of Africa is the -
a) River Nile b) River Congo
c) River Zambezi d) River Niger

The concept of zero was given by -
a) Spain b) USA
c)India d) China

The Lok Sabha is also known as the house.
a) Upper b) Third
c)Second d) Lower

Name the following :-

The head of the state.

The first book to print in Gutenberg printing press.

The main seaport of Democratic Republic of Congo.

The largest delta in the world.

The place which receives the heaviest r

ainfall in the world.

x5=5

Give two examples :-




1. |Seasons: 1 "
2. |Cold desert: - ) B 1 _
3. | Minerals found in Democratic Republic of Congo: 1
4. | Scripts: __ S 1
5. | Political parties in India: 7 1
IV | Correct th_e_statement L o ;1 x3=3 |
1. | Places located near the sea coast have continental climate. |1 B
2. | The Aravalli Hills and the Alps are examples of young mountains. 1
3. | The grasslands with short trees in DRC is called Pampas. i
V | Identify the pictures :- 1x3=3 |
1
1
1
VI | From the given grid, find out and write any SIX names of the Y2x6=3
Plateaus in the world :-
CIH|O|T|A|N|A|G|P |U|R|T
O/A|S (I |D|F |G|O|Q|R|S|T
LyMmjiQ|(B(O|L (I |V|I [A]|N]|Z
O/N|M|E|A|S |D|F|G|Z |Y|T
RIP|Z |T|IV | M|A|JL|W]JA|T|L
A|{D|Z [A|P |D|E|C|C |A|N|Q
D|B|B[N|IN|[H|J|K|L [M[X]|Y
oO|G|G|zZz|M|B|Z|Q|U]|O|P|R
Z|G|R|AIN|D|C|A|N]|Y |O]|N
VIl | Answer the following :- 1x6=6
1. | What do you mean by Range of temperature? 1
2. | Define Delta. 1
3. | Who are Pygmies? 1
4. | Explain Hieroglyph. 1
5. | Name the highest judicial body in the country. 1
6. | What are sand dunes? 1
Section—C
VIl | Answer the following :-(Carries 2 marks for each question) 2x5-10
1. | Write any two factors that affect the climate of a place and Explain. |2
2. | Mention few important features of mountains. 2
3. | Write a short note on wildlife of DRC. 2

2




Who deveinped the art of wtiting? What dnd they use for wntmg?
What is the main function of the Judmaty’

. il Draw and Iabel the cllmatsc zones of the world

- Section - D
| Answer the following :- (Carries 3 marks for each questlon)
Plains are thickly populated. Give reason.

: Describe Rantu people. _
Name any three inventions contributed in bringing human to the

present day.
Write a short | note on the Presidenl of Indla

Section-E )
On the given map of Democratic Republic of Congo (DRC), mark W 1x5=5 |
the following places. B
A. Capital of DRC 1 B
B. Any four neighbouring countries of DRC 4 |

N )
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Half Yearly Exam 2024-25
rn—— Computer Science
Class: V

Date: 1-10-2024
No of Printed Sides: 2

3. ALU

A. Fillin thc hlnnke

2. The ~_canbe used to capture screenshots.

3 ____help you organize information in MS Word

4, The shape in a flowchart typically represent a start/stop is

B. Multiple Choice Questions

1. Who developed the Windows 10 Operating System?

a. Apple b. Google ¢. Microsoft

2. What does a QR coded contain?

a. Only picture | b. Only text
3. What does fonnotting in MS Word allow you to do?

a. Changc the font = b. Make word bold c. Add pictures
4. How does adding pictures to your PowerPoint presentation affect it?

a. Makes it bormg b. Makes it visually appealing

5. What does the ooordmate (0,0) represent on the PictoBlox stage?

a Ceutre pomt b. Top-Icft comer  c. Bottom-right corner

C. Give one Word for the followmg

1. A special folder that temporarily stores deleted ﬁles

2. A faint shadow or stamp behind the words on each page.

3. A computer program that helps you create a dlgltal storybook.
4. Itis a graphical programnung soﬁware based on blocks.

5.:1tis the bram ofa computer

D. Write the full form of the following

1.9A] 3
2. CPU

SINDHI HIGH SCHOOL, BENGALURU

Max Marks: 30 .
Reading Time: 8:00 to 345 anr.
Writing Time: 8:15 tn‘) l‘i am.

Sx1=5

s a long horizontal bar usually seen at the bottom of the gereen.

The powerful program that manages the other software and hardware on a computer is called

5X1=5

d. IBM

c. A secret message/information d. Only numbers
d. All the above

c. Makes it unprofessmnal d. None

d. Top-right corner

5X1=5

3X1=3




G. Answer any three of the following =

L
2.
3.
4,

w2

E. Write True or False

1. Memory unit is responsible for petforming mathematical operations

2

Initinlly, computers were Iarge machines poweted by vacm fuhed

The Start menu gives you necess 10 all the programe on yout computer.

4. The header and footer appenrs n the feft and right cotners of each page

F. 1dentify the following PictoBlox Interface

PictoBlox LTI L & [onmin
A
= Vo %

RN

' !
»f Cintemes Y

ke

Vooshiateh ¥4 TObL Blatve:

“re e

5—: gy dum - {0 Gonet ™ Joe

4X0.5~2

4X1=4

W i I 8

What is an Algorithm? What is a Flowchart?
Write the advantages of Windows 10 Operating System.

Explain the generations of computer.
What do you mean by the term Decomposition? Draw an example.

Write two differences between MS Word and MS PowerPoint
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